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Please check that this question paper contains 12 printed pages and 2 pages of maps.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 22 questions.
Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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(iv) FeT-G&IT 8 @ 13 a% g I J97 8 | J% Jo7 3 3% & 8 | AP o7 & I
80 - 100 /5] & 37feres 757 &1 <13 |
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150 w521 @ 37feres 757 &1 T3 /|
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YIiferas e 1 IRIT %1 37 g1 @ g9 @ Fafera & | J% 37 5 3% BT 8 |
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(viii) IGT-FIIAT 3 {17 3 o7 RIS 77 2HRAZT 3 F701T %1 3FHl7 & Tt & |

General Instructions :
(i)  There are 22 questions in all.
(ii)  All questions are compulsory.

(iii) Question numbers 1 to 7 are very short answer questions carrying 1 mark each.
Answer to each of these questions should not exceed 40 words.

(iv) Question numbers 8 to 13 are short answer questions carrying 3 marks each.
Answer to each of these questions should not exceed 80-100 words.

(v)  Question numbers 14 to 20 are long answer questions carrying 5 marks each.
Answer to each of these questions should not exceed 150 words.

(vi)  Question numbers 21 and 22 are related to identification and locating and labelling
of geographical features on maps, carrying § marks each.

(vii) Outline maps of the World and India provided to you must be attached within your
answer-book.

(viii) Use of templates or stencils for drawing outline maps is allowed.
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gug —<h
Section — A

1. g 3 o o s w7 i | 1

Differentiate between ‘Growth’ and ‘Development’.

2. ‘HEar wisg s giedTT ffe | 1
CUE]
‘ST T 315 <1 R faifaw |
Define the term ‘literacy’.

OR

Define the term ‘Age Structure’.

" 3. SR gl o1 37 ffgu | 1

Write the meaning of ‘Trading Centres’.

L4 o e o) Fe ) R sesrE B | v+ 1im1

Mention any two features of ‘Commercial Ports’.

5. T W O 3T Tk T EEE o 7 U i ey Hif | 1
SIUE

WA H ST~ SIGY0T Ueh TTHI He] 1 8 ? Teh 01 T8 HifT |

Why is urban waste a serious problem in India ? Explain one reason.

OR

Why is air pollution a serious problem in India ? Explain one reason.

6. TN 3R IvF T’ o HEcd ohl TG HIT | 1

Examine the importance of ‘Lagoons and Backwaters’.
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7. TG H I & | TR-& § qEN o Yo fer @ stfus i g v 1
' FreET
T o reftor & | Treior S | fer < e gewt @ s w® i g v
Explain why male migration is higher than females from rural to urban areas in India.

OR

Explain why female migration is higher from rural to rural areas in India.

Qg -9

Section — B
8. ‘HWEdlg <h! TSI i ITH IeTavll Higd TIT HIFT | 1x3=3

Explain the concept of ‘Possibilism’ with suitable examples.

9.  YRA o el SATIR < T=re™ | Y AWT o Hecd bl JUM It | 3

Describe the importance of sea routes in handling India’s foreign trade.

| 10. ST 3 WG I 3 T 3 T b v Hi | 3
YAl

“yTd H T 1 ST THIfTETiieh el | 53T 8 |7 T HIf |

Examine the level of urbanisation in India after independence.

OR

“Towns flourished since prehistoric times in India.” Examine.

11, fou e 3mw 1 gragriyees e it 3 36 A for 7 et o sw fafge : 1+2=3

(11.1) 3@ ¥ fe@m 7, 7mfior st & gfoey i ug=e $Hife 3T 3ge M foafaw |
(11.2) 38 YR o TTHI0T St o Tfee shi fohel Q1 fersrranatt <ht sxmen Hifu |
AYET
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feu T 3@ 1 FEUHIgE® e SV 31 386 A= fu s s fafae: 1+2=3

(11.1) 3@ ¥ fe@m 7, 7mfio st & gfoey i ug=e $Hife 31 39 M fafaw |
(11.2) 38 YhR o TTHI0T St o Ui shi fohel 1 fersrranatt <ht sxmen Hifu |

Study the given diagram carefully and answer the questions that follow :

(11.1) Identify and name the pattern of rural settlement shown in the diagram.
(11.2) Explain any two characteristics of this type of pattern of rural settlement.
OR

Study the given diagram carefully and answer the questions that follow :

(11.1) Identify and name the pattern of rural settlement shown in the diagram.

(11.2) Explain any two characteristics of this type of rural settlement.
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12.

64/1/3

Aie : frfefad e shae et weRi o fofe e 9@ 11 6 WH W e
TEd S 31 wehivt sfen i gl i forsiwanat o1 aui hife | 1x3=3

Note : The following question is for the Visually Impaired Candidates only in lieu

of Q. No. 11 :

Describe any three characteristics of Compact type of settlement or Dispersed type of

settlement.

Frar < 2 arferent b1 1eEE i SR ST R feumuysai s s faflae: 1+1+1=3

HRA # S¥EhA G &L, 1901 — 2011

EA
ERUEEC T SHEET
o s FEH %
1901 238396327
1911 252093390 (+) 13697063 (+)5.75
1921 251321213 (-) 772117 (- 0.31
1931 278977238 (+) 27656025 (+) 11.60
1941 318660580 (+) 39683342 (+) 14.22
1951 361088090 (+) 42420485 (+) 13.31
1961 439234771 (+) 77682873 (+) 21.51
1971 548159652 (+) 108924881 (+) 24.80
1981 683329097 (+) 135169445 (+) 24.66
1991 846302688 (+) 162973591 (+) 23.85
2001 1028610328 (+) 182307640 (+) 21.54
2011%* 1210193422 (+) 181583094 (+) 17.64

2



(12.1) 9 1 Tk SEET ! gfg e hl TohRIcwe Yaft i fe@mar & ?

(12.2) o=l Tt gerehl 1 Iei@ hHitae, S gerehia Ifg i & T TR FRet Jef
&9 | fe@mn T R |

(12.3) &A1 9§ G h! Ted! Fafd o Foh=al QI ShRUTl shi ST HITT |

Study the following table and answer the questions that follow :

Decadal Growth Rates in India, 1901 — 2011

Growth Rate*
Census Years | Total Population
Absolute Number | % of Growth
1901 238396327
1911 252093390 (+) 13697063 (+)5.75
1921 251321213 (-) 772117 (-)0.31
1931 278977238 (+) 27656025 (+) 11.60
1941 318660580 (+) 39683342 (+) 14.22
1951 361088090 (+) 42420485 (+) 13.31
1961 439234771 (+) 77682873 (+)21.51
1971 548159652 (+) 108924881 (+) 24.80
1981 683329097 (+) 135169445 (+) 24.66
1991 846302688 (+) 162973591 (+) 23.85
2001 1028610328 (+) 182307640 (+)21.54
2011%* 1210193422 (+) 181583094 (+) 17.64

(12.1) Which decade has shown the negative trend of growth rate of population ?

(12.2) Mention any two decades in which the percentage decadal growth has shown

the regular downward trend.

(12.3) Explain any two reasons for the declining trend in the population growth rate.
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Aie : FfTRad e harer gRaTtera weTRiE o foTe e S 12 6 ®H W g
A H SHEEAT ! el gg o 1T Iaearll fohmal e Shiehi <h! STEaT T | 1x3=3

Note : The following question is for the Visually Impaired Candidates only in licu
of Q. No. 12:

Explain any three factors responsible for the rapid growth of population in India.

13.  “forepra o et oft Toramepctia & Twer 9 R SHE@ 3N TEEET o o gHAT 99T
TG 2 |7 39 Y i =AHETd S80Sy | 3

“The prime task before any development activity in India is to maintain parity between

population and resources.” Justify the statement.

gug -1
. Section — C

14, e HTE % w0 3 argueEAr 61 we 3 R ot fargatl w1 R BRI | 1x5=5
3T

T STHTT <5 o™ =hl THTfad i aTel fohmal o9 Shteh shl ST <hIfT | Ts
SATEh STAHT o g ol T8 HIfY | 3+2=5

Analyse any five points of importance of ‘pipelines’ as means of transportation.
OR

Analyse the three factors that affect the development of inland waterways. Explain the

significance of Rhine inland waterways.

15, HERH Y=fd oo iy &6 foheal qi=r foRIvarsti st s i | 1x5=5

Describe any five features of ‘plantation agriculture’ practised in the world.
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16.

17,

18.

19,

20.

64/1/3

gTeft 3Tfieh Jeor o ferehTe o TETareh gU, HTehi ! ISTELUTT Hfgd ST HIfT | 5
YT
e 91 ST TR % FeTe  HET BU, FRA] ) Serit At s Hif |
Explain with examples, the factors that helped in the development of ‘Hugli industrial
region’.
OR

Explain with examples, the factors that helped in the development of ‘Mumbai-Pune
industrial region’.

‘SHEEAT o Tca’ hl Ty feifgu | §ER ° SHEwEE o foawer s aifad s aret foheal
IR fTeh hHeh! <hl ST SHIfTT | 1+4=5

Define the term ‘density of population’. Elaborate any four geographical factors that

influence the distribution of population in the world.

“HId § TG < 99aTd, v e & foe fafi= mgaqer ifei soems w8 of |7 54
Y T JHTIUIT SHIFT | 1x5=5

“After independence various important strategies were adopted for agricultural
development in India.” Substantiate the statement.

FER T ‘I WIEIReh! SART <l foheal aiel forRIsdati st samen i | 1x5=5
YT

HERH ‘oS YA o I bl Tohedl i foRIvaradi ! eaw i |

Explain any five characteristics of ‘high tech industry’ in the world.

OR

Explain any five characteristics of ‘large scale manufacturing’ in the world.

“HTE T SIS, T Tare | 31 61 i TFsll gl deh TINaeH 3q STe e Gagraeh 3R
TEH IR T 59 715 & |7 39 Y shi IeTetvll dfgd gfE shifer | 1x5=5

“Pipelines have become the most convenient and efficient mode of transporting liquids
and gases over long distances in India.” Support the statement with examples.
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21. HER o feu mu gerHifaes -t | gt Simfeis @& &1 A, B, C, D 31 E 9 fe@rn
' T 8, 3eh! TgaH shifog 3T 39k Hal 1 Ffeifad SR 6t Heg A 3 | Eid!
HERCCIC IR IR T IECL 5x1=5

(A)

3fenfirh e

(B) S WS e
(C) URHWETEYI {eTqT <1 R o1 W

(D)

SRR BaTS—TH

(E) @ f&d

Identi
world

fy the five geographical features shown on the given political outline map of the
as A, B, C, D and E. Write their correct names on the lines drawn near them

with the help of the following information :

(A)
(B)
©)
(D)
(E)

e

(21.1)
(21.2)
(21.3)
(21.4)
(21.5)

Note :

21.1)
(21.2)
(21.3)
(21.4)
(21.5)

64/1/3

An industrial region

A major seaport

The terminal station of a transcontinental railway
An international airport

A mega city

fr=feriad sroa Faet gl wefit = fore, s aen 21 F A wE: 5x1=5
Y TS IHIEHT (J,TH.T. ) o Topelt Toh 3TTnfiTes Tewr o1 W forfan |

Fareft = foreft wep yg@ T a1 A ferfam |

HAteferas uraeTEdE Yot % geit R % W w1 m fafau |

TTE o Terdfl Teh STaiE T gaTS— Ui o1 W fefau |

Torefidi=a < wm T4t w1 9w forfa |

The following questions are for the Visually Impaired Candidates only, in lieu
of Q. No. 21:

Name any one industrial region of U.S.A.

Name any one major seaport of Chile.

Name the eastern terminal station of Australian transcontinental railway.
Name any one international airport of France.

Name the mega city of Philippines.

10 E%%



22. WRA % feu T gt Tar-amtas # ol ute diiferes @eavit o1 Suah fogl @ guiise
3R 3ok =1 fofa : 5x1=5

(22.1) TN T Feli=l T 1T T |

(22.2) g1 1 UM 3G T |

(22.3) &R § et e HREHT |

(22.4) 1SS TohTTeH (J.%.) o FEINT | TTIUT ST T |

(22.5) 3TEW T I=RTHE gAE-I< |

(22.6) TSI H IHG THL-TTH |

(22.7) IW-gdl (A7 %) T6 AUSH 1 T |

(22.8) TR e @@

Locate and label any five of the following geographical features with appropriate
symbols on the political outline map of India :

(22.1) The state with highest level of urbanization.

(22.2) The leading state in the production of coffee.

(22.3) An oil refinery in Haryana.

(22.4) The steel plant setup in collaboration with U.K.

(22.5) An international airport in Assam.

(22.6) The major seaport in Odisha.

(22.7) The Headquarters of North-Eastern Railway.

(22.8) Singareni coal mines.

fraferfaa yem hae giEaTiE et o fofe, To7 9% 22 % W W E. I 9" 7
TARHG 5x1=5

(22.1) WA =1 i T T TR T e LI dTell 8 2

(22.2) WA =1 S GT TS HEdT HT TV IATGH 8 2

(22.3) i 4 ferd det e ShR@ @1 AW ffEe |

(22.4) IATEeE fohTen (.. ) o HEANT § WA § TA1Ud $8dTd G 1 19 faifaw |
(22.5) I T fRq IAUE gAE-U 1 AW fAiau |

(22.6) 3nfen § fera yg@ Tl -va= o1 919 feIfEu |

(22.7) IR (A7 $Ee) I AUSHA h AT 1 A TIRaT |

(22.8) dfirerTg 4 fopeh Toh TH@ et <hl @M o1 T ferfay |
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The following question are for the Visually Impaired Candidates only in lieu of Q. No. 22 :
Attempt any five questions :

(22.1) Which state of India has the highest level of urbanization ?
(22.2) Which state of India is the leading producer of coffee ?
(22.3) Name the oil refinery located in Haryana.

(22.4) Name the steel plant setup in India with collaboration of U.K.
(22.5) Name an international airport in Assam.

(22.6) Name the major seaport located in Odisha.

(22.7) Name the headquarters of North-Eastern Railway.

(22.8) Name any one major coal mines in Tamil Nadu.
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Map for Q. No. 21

Y9 ¥, 21 & fow At

QIPHIN) —— ——
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7o ¥, 22 & foTT gHte
Map for Q. No. 22

WA AT @T-HAET (TAAAR)
Outline Map of India (Political)
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